PLUS TWO ECONOMICS QUESTION PAPER

*1 mark*

1. Normal shape of PPC is: (Concave, Convex, Linear, Down ward slopping)
afl afl ] @S VOWIEEM alo : (BBHIMNBBHN, B0N3eNIE;, 1IN @, AWDeNd UGS 3w loU))

2. Goods used together is known as: (Substitute goods, Inferior goods, Complimentary goods, Giffen

goods)
80301 2] 9alEWI 1Y HHINM VI WMEBRUE RO 1WER] S} M®: (aldh@o M WMEBRUE, MRINII @0 & NGB

WMEBRU3, @00 of1 ©@ ATNAT VI WMEBRLE, U aNB VD WMEBRU3)

3. Expansion of demand is due to: (Fall in price, Rise in income, Rice in price, None of the above)
aw @m0 e Men Al 9 @105 &9 EeMo : (A1 eI S10, QUM MEM @3 AIdRLMAT, O 210 Oel @R®E],
0) &1 @3 alOEMMBMI (Mo @L))

4. Shape of an AFC is: (Rectangular hyperbola, Down ward, U-shaped, Inverted U-shape)

AFC Q&S @b A0 D@ 6M): (2l @I dh @ @] LRSS G160 g GEENII &, WD N3 (U @AW, @) @4 @1 @ 21
880), N al@ © @) CYH:L® ] @ LNSSD)).

5. Which of the following represents budget line equation? (P1X1+P2X2=M, P1X1+P2x2M,
P1X1+P2X22M)
©9 ¥ o]0QIMAI @3 aBMI 6N AR GO 6) VAU dby DD (ol @1 M W @1 963 M@ ? (PIX1+P2X2=M,
P1X1+P2x2M, P1X1+P2X22M)

6. Which of the following is a Stock variable? (Investment, Profit, National income, Money supply)

enm G O@IM AU @3 B9 6N B30 GIVI B8 BN @1 @aeni1 182 (M BHH alo, LID Bo, BB (1 @ UMY Mo,
aleMo Al @@6Mo )

7. Which one is the most liquid measure of money supply? (M1,M2,M3,M4)
alem Al @M O™ MO0 aBQNUY0 (39 N @SN a@®9 aN? (M1,M2,M3,M4)

8. The ratio between change in saving to change in income is (Mpc, Mps, Apc, Aps)
rUMI0 BY O ©E1 MO QYo NUEYAD MDY LI M0 QMo AN LRSS @MIald o (Mpc, Mps, Apc, Aps)

9. The goods in which consumption should be encouraged are called: (Club Goods, Private goods, Public
goods, Merit goods)

9alGEI N0 Gl ENVI aN gf] BHH M MUY WMEBRHS N &1 HMY: (e TV WMEBRUS, MU B9 @Y (VI
WMEBRUB, Orld M) MO WMEBRUE, HD 01 § VO WMEBRU3)

10. If import is higher than export it is: (Trade surplus, Trade balance, Trade deficit, None)
HONDM] OQ HHI U8 DB DD B Sy TIRID 6IAM 851 @3 BROY: (UL ald @ @1 240, UL ald @ 69 AIABMT, (L0
ald @ &Hea ], amy @) &)

*2 marks*

11. Distinguish between short run and long.
GaM0 @S N6M0 GRIJo UT N6MIo A @3 G B @) B9 obb.
12. Differentiate between cardinal and ordinal utility.
0 W Meljo 0@ M@d ) 51 il ¢l @yo e @3 GO @@V @) H6) &b.
13. List any two motives for demand for money.
aléMo @RNUWRY O] SIMDTY] MBS aBEID 851 R0 OMNS OGF (S 68303 alS) He)a] S O &b



14. GDP of a country at current price is 2000 crore and GDP at constant price is 3000 crore. Find the
GDP deflator.
m ein ee1 i el @3 6303 ©9 23 O M0 21 (W afl 2000 E50 S1 o munl @ Al i @3 =) awl o 3000
G0 S1 @I 6m). 21 AW all AW Gag Q@ HE6NE O s

15. A production schedule is given below:
63(0) 610 WEHB 6)a (U)LY U3 I OF E)BO S O 1@ B6) MY . E)aH (WYY U3 al) BOTE 1O H6)) bb.

Labour 0 1 2 3 4 5 6
TP 0 10 24 40 50 56 57
MP
AP

Complete the schedule.
*3 Marks*

16. Distinguish between Bop and Bot.
Gl @e)D MO 619 AINBTVY0 NULO ald PO IMEN 6MIJ AIN3TVYo AR @3 U B @ L) b
17. If Mpc= 0.75, find government expenditure multiplier and tax multiplier.
Mpc= 0.75 @&6m 8 @3, MUBHE6I @ 61al RINIY &) 6)S 11 MO0 M &) @] (N MMAOUIO EHEIENS BT .
18. Write the functions of money.
aleM@M ] 160 (OGO EBRUS af)P) ) db.
19. Distinguish between final goods and intermediate goods with suitable examples.

@OMICWI 23 M) @ B9 nNEMEBRUE DalBWI 11 2] @RI A 2lRH) H&)Yo HNNGRT W WG 210H6) HEYo
@2 @3 GO BTV @) H6) .

20. Classify the following in to two heads Micro and Macro: (Price of a pen, Price level, National income,

Percapita income, Total employment, Salary of a teacher)

0 gOWIMAUNW HAD B0 , B B af)M 1 BREM PEMS RIS @ M@0 @ @ DL (B3D) Gal MWYOS
afl el, ail e1mN 1019 o, 63 U7 @ AUIAI Mo, (al@ ] 12l Bat (@Y M Mo , HAI TMo HMI ¥ @3, B3 MY

2 OQIMAOUOW EIOA GBI , I GBI af)MM ] EBBEM NS MAIHEI @ @0 M1 @1 H6): (B0} Gl NWIAS O
el, ol ernl elnid o, @3 U3l @ NIEIRO Mo, (el 12l ek NUBY A Mo, AR BMo I ¥ @3, BB ald:NE0
MISo)

*4 Marks*

21. A consumer demand 40 units of a commodity at a price of 4. Her demand declines 20 units when
price increases to Rs 10. Calculate price elasticity of demand.
630} 9alBEI HMI N B0 210661 ME0 40 WM G 4 (i 1D HE) @YNUUDY O] SINM]. BRAUSIAOS @VOUURL0 20
@M1 § BHI0@IM). A 2110 @l @ O @IGMUI (3. (W @9 (B M0 AN 21 &A1Y M) B EHEMBNI HEYDs.
22. Briefly explain the features of perfect competition.
@] SO ACTVEB) 1 M0 VO BUD A HMEBHUE Mo &M om0 @ O VoG &@ ) HO) .
23. (a) Distinguish between direct tax and indirect tax. (b) Classify the following in to direct tax and

indirect tax: (Income tax, Goods and service tax, Customs duty, Corporate tax)

(af)) (@Y &Y O] B0 @0 alGI U M1 B Yo AN @3 G @@ ] @1 B6)) . (1) M ¢ OWIM AU
(@Y S M YD, alGRI S M BHY af)(M ] BBEM R0 @] @ HEYE:: (BDEI WM B:3DY], al@HE, BTV
QUM M D, B M AR S, B BadBN G M B3 @)

24. Explain Flexible exchange rate with the help of a diagram.
B0 WO & 1IN0 MaNI WEOMI S e)ag &1 6N 13 af)dBMIGal 6@ GO § AN LOE B H6Y b>.



25. Mention any four features of market economy.
QN alem VMG QLY UMUOIOS aBOD 851 2130 MI BT MV GUD AU MBUB MV 2 afl B bs.

*5 Marks*

26. Explain determination of equilibrium income in a two sector economy with diagram.
6NE G ARG ORI MuMIGALY Ao eel ruomeil @ AIEYMI Mo M1 @em @ HH) MD WD (No Ma] Mo
il VR B@ ) BENBs.

27. lllustrate the factors determining firms' supply curve.

(MU0J alMEEBEYAS (1 @6M (o M @6 @1 &6 (M RISHE8BU3 il (0] H@ 1 H6)) bb.

28. Explain floor price with the help of diagram.

W (NI @ MO MVaNI WEOMI &S MO 21 (i KOGl B B6YD.
29. What are the important functions of RBI?

@R@NN6afQ] A)S (ol U M (al UBBMMEBBUS )TN 616
30. GDP is not a good indicator of welfare, why?

21 W all G 2O MO0 ML M aldhAL], af)TRE)E0 NS?

*8 Marks*

31. Explain law of variable proportion with the help of a diagram.
B0 W (NI & 0160 MaNd WEOMI S G @1 @6ni1 13 @RM] ald MEMIMEN M1 @ao O VR BHE1 H6) &
32. What do you mean by GDP? Explain any two methods of calculating GDP.

21 (W all a)M@OB:9 6 M1 68133 o)DM N 9GG 131 H6y M@? 221 AW all HEMHNI HOY M@ M) 8BS ABEID
81 2o @S @1 @ B8 O (VR B> B bo.

33. 1f M=100, P1=10 and P2=20
(a) List out budget set (b) Write down the budget line equation (c) Find vertical and horizontal
intercept (d) Draw the budget line (e) Find the slope of budget line.
M=100, P1=10, P2=20 ag)mm1 Q@9 6)6M 5] @3 (af)) 6NIL2G OV § alS) dr6)a] SIOMIE: (611 ) NI eeel 08

rVAOUD 50 )P O & (MU ) Rlo ANINIYe @] EURUT MM @ STV BHEENS DT (W) NG 662l (13
QUEWHN) & (89) eNIRG a6l M1 MO0 2101 O HEENS OMYbs.
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